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QUESTION 1

What is a TAP interface in Contrail?

A. A software network interface that operates at OSI Layer 3.
B. A hardware network interface that operates at OSI Layer 3.
C. A software network interface that operates at OSI Layer 2.
D. A hardware network interface that operates at OSI Layer 2.
Correct Answer: A

Reference: https://sureshkvl.gitbooks.io/opencontrail-beginners-tutorial/content/introspect/contrail-vrouteragent.html

QUESTION 2

Which endpoint type in Contrail Security provides multidimensional segmentation such as application, tier, deployment
or site parameters?

A. domain

B. virtual network
C. tag

D. address group
Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/contrail20/topics/concept/security-policyenhancements.html

QUESTION 3

Which SDN solution allows the control plane to remain on legacy hardware as a stop-gap measure until you are ready
to replace the current hardware?

A. SDN using NVGRE
B. SDN as an overlay
C. SDN using an API
D. open SDN

Correct Answer: B

QUESTION 4
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You have deployed a Contrail cluster that must support bare-metal servers.

Which protocol is used to communicate between the bare-metal server\\'s virtual tunnel endpoints and the Contrail
cluster to establish sessions with the VM servers?

A. SRTP

B. EVPN/VXLAN
C.BGP

D. XMPP

Correct Answer: B

QUESTION 5

What are three benefits of implementing an NFV solution? (Choose three.)
A. increased network speed using bandwidth management

B. reduced hardware requirements

C. automated services

D. tenants charged only for what they use

E. isolated switching functions

Correct Answer. ABC
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